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1) A box contains 2 guavas and 1 mango. Someone selects 2 of the 3 fruit at random, one after the other,
without replacement. Let X = number of guava selected.

a) (20 pTs.) Fill in the blanks for the table shown below for the probability density function of X. (That is,
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b) (10 p1s.) Find E(X).
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Answer: FE(X) = /3
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2) (15 P1S.) A box contains 2 guavas and 1 mango. Someone selects one of the fruit at random and replaces
it. This process is repeated three more times for at total of 4 selections. Let ¥ = total number of guava
selected.

a) (15 p1s.) Find Pr{Y =2).
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Answer: Pr(Y =2)= /8 !
b) (s ps.) Find E(Y).
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